
第三章之课后 θ题

P2 | - 123 ,
习题 C 1 ]

,

(3) , C 17 )

P123 , 习题 ( 16 ) , [ (8 ) , (23 ) , [24)

[ ) ① 3x ≡2 (mod7 )

直接检验 ,
得X≡3 (mod7 ] X 不能这么草率

② 6 x ≡ 3 Cmodq ) 等价于 2X≡ 1 (mmd 3 )重军

直接检验
,

得 X ≡ z (mod 3 )

O; (3, 7) = 1 | z
∴ 有解,

令 Q=3 ,3:
2

, M ]

箱》
= 3
,

若mm =
2,m = ]

求 0,有@m; x. = 1 (mod器m, )
即 3X 0 ≡ 1(md7

)

, 得 x - S(md7 )

: 特解 X , ≡ X0 .m ≡ 52 ≡3 (mod 2 )

∴ ,ax ≡ b(odm ) 的解为 X ≡ 3t 7-t (mrd 77 )

② 6x ≡3 (mod 9 )

; (6, 9 ) =313
: 有解
令 Q =6

,
b =3
,
m= 9

q
,
m=

2 ,
若 ,m= 1 , 器,

m)
= 3

术 0
,
有 @mmXo ≡ 1 (modam, )
即 2 X40 ≡ 1 (mod 3 ) , x. ≡ 2 (mod3 )

∴ , 特解 X 1 ≡ 此 .m ≡ 2 (mod 3)
: ax ≡ b (modm ) 的解为 ( 2 + 3 t ] (uod 9)







」 术解得 (单
: 求早d裂, 得 X= 468 mod 607 )

[ 8)1309= ] × 11 × 1]

∴ φ ( 1309):φ ( 7)× (ll e (1) ) :6 ×106 : 960

∴ 2
O( B09)

≡ 2960≡ 1 (mod 1309 )

∴. 21000000 ≡ X 也不好算

等作于 2
1000000

≡ b
,
(amod 5 ) 26≡ 1 (m,d7 )

{ 2100000 ≡ b2 (mod 1 " 以

⼜⼀ : {红0= 1 (mndin

21000000 ≡ bs Emod 173
216≡ 1 ood 173

得 X ≡ 562 (mod 1309 )

(2 b) f(x)= 3 x14f4xB+ 2x"
+
x 9 +x 6

+y 3
+
12x^+x = 0 (mod 7 ]

由费⻢⼘定理得
,
X
]
- X ≡0 (mod7 )

γ6x] = fx) - 3 ×^ (x-x) = 14xB+2 x
"
+X

9
+3×

8
+XGx3412x4x

T [X)- roCX) - 14 X0 (x- x) …

最终得 γ (x)= x(x9+2x4+ 2x+ 15x+53 ≡ 0 (mod 7 ]

直接检验 0 , ± 1 , ± 2 , ±3 得解为 X=0 , 6 (nd 7 》

(24) f (x) ≡ X
4 +7 x+ 4 ≡ 0 (mod 243)

243 : 3
S

fax)求解 = x4+7x+4 ≡ 0 (mod 3 )

得特解为 X = 1 (mod 3 )
fCX . ) ≡4 × 13+ 7 ≡- 1(pl3,

f (x,] - 1 = - 1Col 3 )




